
MATHS

BOOKS - RS AGGARWAL MATHS

(HINGLISH)

CONSTRUCTIONS

Example

1. Draw a line parallel to a given line 1 and

passing through a given point P.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pbHWnVoNQPHE


Watch Video Solution

2. Draw a line parallel to a given line at a

distance of 3 cm from it.

https://dl.doubtnut.com/l/_pbHWnVoNQPHE
https://dl.doubtnut.com/l/_Q8LspUuVff41


Watch Video Solution

3. Construct a  in which BC = 6.2 cm,

AB=5 cm and AC = 4.3 cm.

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_Q8LspUuVff41
https://dl.doubtnut.com/l/_J7dAikP7SBMs


4. Construct a  in which PQ=5.3 cm.

PR = 4.6 cm and QR = 3.8 cm.

Watch Video Solution

△ PQR

5. Construct a PQR in which QR = 4.2 cm,

 and PQ = 3.5 cm. Draw 

.

Watch Video Solution

Δ

∠Q = 120∘ PM ⊥ QR

https://dl.doubtnut.com/l/_ciHFrXH1SRSJ
https://dl.doubtnut.com/l/_iGsyfpTh3jzE


6. Construct a  in which BC = 4.8 cm, 

 and .

Watch Video Solution

△ ABC

∠B = 60∘ ∠C = 75∘

7. Construct a  in which BC = 5.3 cm, 

 and .

Watch Video Solution

△ ABC

∠B = 45∘ ∠A = 75∘

https://dl.doubtnut.com/l/_uip6aoLkjzSN
https://dl.doubtnut.com/l/_68uuaMPGoQMi


Exercise A

8. Construct a  in which base BC = 4.8

cm,  and hypotenuse AC = 6.2 cm.

Watch Video Solution

△ ABC

∠B = 90∘

9. Construct a right-angled triangle whose

hypotenuse measures 5.6 cm and one of

whose acute angles measures .

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_kQQEgY7brNnt
https://dl.doubtnut.com/l/_PBJeYB9M9NSO


1. Draw a line AB and take a point P outside it.

Draw a line CD parallel to AB and passing

through the point P.

Watch Video Solution

2. Draw a line AB and draw another line CD

parallel to AB at a distance of 3.5 cm from it.

Watch Video Solution

https://dl.doubtnut.com/l/_ReaqZvSw7s2O
https://dl.doubtnut.com/l/_yE4VGVwsy3YX
https://dl.doubtnut.com/l/_cpdwOLWQMGDA


Exercise B

3.   Draw a line and draw another line m

parallel to l at a distance of 4.3 cm from it.

Watch Video Solution

1.   Construct  in which 

.

Draw the bisector of P

Watch Video Solution

△ PQR

QR = 6cm, PQ = 4.4cm and PR = 5.3cm

∠

https://dl.doubtnut.com/l/_cpdwOLWQMGDA
https://dl.doubtnut.com/l/_Exv4rbSSDKmg


2. Construct an equilateral triangle each of

whose sides measures 6.2 cm. Measure each

one of its angles.

Watch Video Solution

3.   Construct a ABC in which AB = AC = 4.8

cm and BC = 5.3 cm. Measure B and C. Draw

AD BC 

Watch Video Solution

△

∠ ∠

⊥

https://dl.doubtnut.com/l/_G69joXGFC4Cl
https://dl.doubtnut.com/l/_2I4DkHB7oDcJ
https://dl.doubtnut.com/l/_cip7w3kjAfO5


4. Construct a  in which AB = 3.8 cm,

A =  and AC = 5 cm.

Watch Video Solution

△ ABC ∠

60∘

5. Construct a △ABC in which BC = 4.3 cm, ∠C =

 and AC = 6 cm.

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_cip7w3kjAfO5
https://dl.doubtnut.com/l/_9V4xU9bjLp0A


6.  Construct a  in which BC = 6.2 cm, 

B =  and  

Watch Video Solution

△ ABC

∠ 60∘ ∠C = 45∘

7. Construct a  in which AB = 7 cm, 

 and .

Watch Video Solution

△ ABC

∠A = 45∘ ∠C = 75∘

https://dl.doubtnut.com/l/_x4zLj6U6p7wo
https://dl.doubtnut.com/l/_8mXfhJhjgK0w


8. Construct a  in which BC = 4.8 cm, 

 and AB = 6.3 cm.

Watch Video Solution

△ ABC

∠C = 90∘

9. Construct a right-angled triangle one side of

which measures 3.5 cm and the length of

whose hypotenuse is 6 cm. 

Watch Video Solution

https://dl.doubtnut.com/l/_n0z6qki43MR8
https://dl.doubtnut.com/l/_tiYg6IMU8ZQD


Exercise C M C Q

10.   Construct a right triangle having

hypotenuse of length 5.6 cm and one of whose

acute angles measures 

Watch Video Solution

30∘

1. The supplement of  is

A.  

45∘

45∘

https://dl.doubtnut.com/l/_Ws6n3vgAkNmP
https://dl.doubtnut.com/l/_OPBz2GK9tuiA


B. 

C.  

D. 

Answer: C

Watch Video Solution

75∘

135∘

155∘

2. The complement of  is

A.  

B.  

80∘

100∘

10∘

https://dl.doubtnut.com/l/_OPBz2GK9tuiA
https://dl.doubtnut.com/l/_K9z8w31EvjMR


C. 

D.  

Answer: B

Watch Video Solution

20∘

280∘

3. An angle is its own complement. The

measure of the angle is

A.  

B.  

30∘

45∘

https://dl.doubtnut.com/l/_K9z8w31EvjMR
https://dl.doubtnut.com/l/_xXR1Ylrj2PRe


C.    

D.    

Answer: B

Watch Video Solution

90∘

60∘

4.  An angle is one-fifth of its supplement. The

measure of the angle is

A. 

B. 

30∘

15∘

https://dl.doubtnut.com/l/_xXR1Ylrj2PRe
https://dl.doubtnut.com/l/_P2cHc3d91UZz


C. 

D. 

Answer: A

Watch Video Solution

15∘

150∘

5. An angle is  more than its complement.

The measure of the angle is

A. 

B. 

24∘

47∘

57∘

https://dl.doubtnut.com/l/_P2cHc3d91UZz
https://dl.doubtnut.com/l/_uAZl6GA17ySv


C.  

D. 

Answer: B

Watch Video Solution

53∘

66∘

6.   An angle is  less than its supplement.

The measure of the angle is

A. 

B. 

32∘

37∘

74∘

https://dl.doubtnut.com/l/_uAZl6GA17ySv
https://dl.doubtnut.com/l/_twqafK08cy4r


C. 

D.  none of these 

Answer: B

Watch Video Solution

148∘

7. Two supplementary angles are in the ratio

3:2. The smaller angle measures

A.  

B. 

108∘

81∘

https://dl.doubtnut.com/l/_twqafK08cy4r
https://dl.doubtnut.com/l/_MHyTlk05bx9B


C. 

D. none of these 

Answer: C

Watch Video Solution

72∘

8.   In the given figure, AOB is a straight line

and the ray OC stands on it. If BOC = ,∠ 132∘

https://dl.doubtnut.com/l/_MHyTlk05bx9B
https://dl.doubtnut.com/l/_Gboh5BaKV0Q9


then AOC = ?

A. 

B.  

C. 

D. none of these

Answer: B

∠

68∘

48∘

42∘

https://dl.doubtnut.com/l/_Gboh5BaKV0Q9


Watch Video Solution

9. In the given figure, AOB is a straight line, 

AOC =  and  The value of  is

A. 32

B. 22

C. 112

∠

68∘ ∠BOC = X ∘ x

https://dl.doubtnut.com/l/_Gboh5BaKV0Q9
https://dl.doubtnut.com/l/_DgNGqiberpz6


D. 132

Answer: C

Watch Video Solution

10.  In the adjoining figure, what value of x will

make AOB a straight line? 

https://dl.doubtnut.com/l/_DgNGqiberpz6
https://dl.doubtnut.com/l/_LjfTuMyB2mAl


A. x = 30

B. x = 35

C. x = 25

D. x = 40

Answer: B

Watch Video Solution

11. In the given figure, what value of x will make

AOB a straight line?

https://dl.doubtnut.com/l/_LjfTuMyB2mAl
https://dl.doubtnut.com/l/_KgK7FBkbMTrQ


A. x = 50

B.  x = 100

C. x = 60

D. x = 80

Answer: d

Watch Video Solution

https://dl.doubtnut.com/l/_KgK7FBkbMTrQ


12. In the given figure, it is given that AOB is a

straight line and 4x = 5y. What is the value of

x? 

A. 100

B. 105

C. 110

https://dl.doubtnut.com/l/_vyHs9uPlzFRo


D. 115

Answer: a

Watch Video Solution

13.   In the given figure, two straight lines AB

and CD intersect at a point and AOC = .

Then, BOD = ? 

∠ 50∘

∠

https://dl.doubtnut.com/l/_vyHs9uPlzFRo
https://dl.doubtnut.com/l/_TLZON0cZPBKo


A.  

B. 

C.  

D.  

Answer: b

Watch Video Solution

40∘

50∘

130∘

60∘

14. In the given figure, AOB is a straight line, 

AOC = , COD =  and BOD = 

∠

(3x − 8) ∘ ∠ 50∘ ∠

https://dl.doubtnut.com/l/_TLZON0cZPBKo
https://dl.doubtnut.com/l/_wBRuA6rHjYiK


. The value of x is


A. 32

B. 42

C. 36

D. 52

Answer: a

(x + 10) ∘

https://dl.doubtnut.com/l/_wBRuA6rHjYiK


Watch Video Solution

15.   In ABC, side BC has been produced to

D. If ACD=  and A = , then B = ?

A.   .

B. 

C. 

D.  

Answer: b

Watch Video Solution

△

∠ 132∘ ∠ 54∘ ∠

48∘

78∘

68∘

58∘

https://dl.doubtnut.com/l/_wBRuA6rHjYiK
https://dl.doubtnut.com/l/_74C5jQHnvc4h


16. In ABC, side BC has been produced to D. If 

BAC = . And ABC = , then ACD = ? 


A. 

B. 

C.  

D. 

∠

45∘ 55∘ ∠

80∘

90∘

100∘

110∘

https://dl.doubtnut.com/l/_74C5jQHnvc4h
https://dl.doubtnut.com/l/_TNaJPLZ6Bbup


Answer: c

Watch Video Solution

17. In the given figure, side BC of  is

produced to D such that  and 

. Then,  BAC = ? 


A. 

∠ABC

∠ABC = 70∘

∠ACD = 120∘ ∠

60∘

https://dl.doubtnut.com/l/_TNaJPLZ6Bbup
https://dl.doubtnut.com/l/_6zaRIysKWV4T


B.  

C. 

D. 

Answer: b

Watch Video Solution

50∘

70∘

35∘

18. In the given figure, rays OA, OB, OC and OD

are such that AOB =  , BOC = , 

 and . Then, the

∠ 50∘ ∠ 90∘

∠COD = 70∘ ∠AOD = x ∘

https://dl.doubtnut.com/l/_6zaRIysKWV4T
https://dl.doubtnut.com/l/_Uh3pa9BJi2aF


value of  is 

A. 

B. 

C. 

D. 

x

50∘

70∘

150∘

90∘

https://dl.doubtnut.com/l/_Uh3pa9BJi2aF


Answer: c

Watch Video Solution

19. In the given figure, A - , CE || BA and 

ECD - . Then, ZACB = ?


A. 

∠ 50∘ ∠

60∘

50∘

https://dl.doubtnut.com/l/_Uh3pa9BJi2aF
https://dl.doubtnut.com/l/_7NgvYi48MgcN


B. 

C. 

D. 

Answer: c

Watch Video Solution

60∘

70∘

80∘

20. In  and 

, then B = ?

A.  

△ ABC, if ∠A = 65∘

∠C = 85∘ ∠

25∘

https://dl.doubtnut.com/l/_7NgvYi48MgcN
https://dl.doubtnut.com/l/_2N5otKkBAYGt


B. 

C.  

D. 

Answer: B

Watch Video Solution

30∘

35∘

40∘

21. The sum of two angles
 of a triangle is 

and their difference is
 
Find all the angles.

A.  

800

200.

90∘

https://dl.doubtnut.com/l/_2N5otKkBAYGt
https://dl.doubtnut.com/l/_XBNNdNLEQkU0


B. 

C. 

D. 

Answer: d

Watch Video Solution

100∘

150∘

180∘

22.  The sum of all angles of a quadrilateral is

A. 

B. 

180∘

270∘

https://dl.doubtnut.com/l/_XBNNdNLEQkU0
https://dl.doubtnut.com/l/_HK2viubQokdr


C.   

D.   

Answer: C

Watch Video Solution

360∘

480∘

23. In the given figure,   

  and   . Then,

AB||CD, ∠OAB =

150∘ ∠OCD = 120∘ ∠AOC = ?

https://dl.doubtnut.com/l/_HK2viubQokdr
https://dl.doubtnut.com/l/_zbqTkCA6UxtC


A.    

B.  

C.    

D.  

Answer: B

Watch Video Solution

80∘

90∘

70∘

100∘

https://dl.doubtnut.com/l/_zbqTkCA6UxtC


24.   In the given figure, PQ || RS, PAB =  

and ACS =  . Then, BAC = ?

A.  

B. 

C. 

D.  

Answer: a

Watch Video Solution

∠ 60∘

∠ 100∘ ∠

40∘

60∘

80∘

50∘

https://dl.doubtnut.com/l/_zbqTkCA6UxtC
https://dl.doubtnut.com/l/_p2lBconESWW2


25.   In the given figure, AB | CD || EF, ABG =

 , GCD =   and BGC =  . Then, X =

?

A. 35

B. 50

C. 30

∠

110∘ ∠ 100∘ ∠ x ∘

https://dl.doubtnut.com/l/_17QDSWRZ4yRQ


D. 40

Answer: c

Watch Video Solution

26. Which of the following sentences are

statements? In case of a statement mention

whether it is true or false. 

(i) The sun is a star. 

(ii)  is an irrational number. 

(iii) The sum of 5 and 6 is less than 10. 

√7

https://dl.doubtnut.com/l/_17QDSWRZ4yRQ
https://dl.doubtnut.com/l/_BkZF8qHQDGBB


(iv) Go to your class. 

(v) Ice is always cold. 

(vi) Have you ever seen the Red Fort? 

(vii) Every relation is a function. 

(viii) The sum of any two sides of a triangle is

always greater than the third side. 

(ix) May God bless you!

A. equal to the third side

B.  less than the third side

C. greater than or equal to the 3rd side

D. greater than the 3rd side

https://dl.doubtnut.com/l/_BkZF8qHQDGBB


Answer: d

Watch Video Solution

27.  The diagonals of a rhombus

A. are always equal

B. never bisect each other

C. always bisect each other at an acute

angle

D. always bisect each other at right angles

https://dl.doubtnut.com/l/_BkZF8qHQDGBB
https://dl.doubtnut.com/l/_0YXtcaT3rzeL


Answer: d

Watch Video Solution

28. In ABC,  ,  and 

. Then,  = ?


A.  8 cm

△ ∠B = 90∘ AB = 5cm

AC = 13cm BC

https://dl.doubtnut.com/l/_0YXtcaT3rzeL
https://dl.doubtnut.com/l/_vFdinxU0Hj1q


B. 18 cm

C. 12 cm

D. none of these

Answer: c

Watch Video Solution

29. In a △ABC it is given that    and 

 . Then, = ?

A. 

∠B = 37∘

∠C = 29∘ ∠A

86∘

https://dl.doubtnut.com/l/_vFdinxU0Hj1q
https://dl.doubtnut.com/l/_Qllkimsr4gUx


B. 

C.  

D. 

Answer: c

Watch Video Solution

66∘

114∘

57∘

30.   The angles of a triangle are in the ratio

2:3: 7. The measure of the largest angle is

A. 84∘

https://dl.doubtnut.com/l/_Qllkimsr4gUx
https://dl.doubtnut.com/l/_BoFieI6Yg15S


B.  

C.  

D. 

Answer: c

Watch Video Solution

98∘

105∘

91∘

31. In a ABC, if 2  = 3 B = 6 C, then 

= ? `

A.  

△ ∠A ∠ ∠ ∠B

30∘

https://dl.doubtnut.com/l/_BoFieI6Yg15S
https://dl.doubtnut.com/l/_de7tnUuJunHZ


B. 

C. 

D.  

Answer: c

Watch Video Solution

90∘

60∘

45∘

32.  In a ABC, if A + B =   and B + 

C =  . Then, B = ?

A. 

△ ∠ ∠ 65∘ ∠ ∠

140∘ ∠

25∘

https://dl.doubtnut.com/l/_de7tnUuJunHZ
https://dl.doubtnut.com/l/_hMbbd3WHoNwA


B. 

C. 

D.  

Answer: a

Watch Video Solution

35∘

40∘

45∘

33.  In a A - B =   and B- C

=  . Then, B = ?

A. 

△ `ABC, ∠ ∠ 33∘ ∠ ∠

18∘ ∠

35∘

https://dl.doubtnut.com/l/_hMbbd3WHoNwA
https://dl.doubtnut.com/l/_MbxHZSCc92bI


B.  

C.  

D.  

Answer: b

Watch Video Solution

55∘

45∘

57∘

34. The angles of a triangle are , 

 and . Then, x = ?

A. 18

(3x) ∘

(2x − 7) ∘ (4x − 11) ∘

https://dl.doubtnut.com/l/_MbxHZSCc92bI
https://dl.doubtnut.com/l/_EcGcYorpr64q


B. 20

C. 22

D. 30

Answer: c

Watch Video Solution

35.  is right-angled at A. If AB = 24 cm

and AC = 7 cm, then BC = ?

A. 31 cm

△ ABC

https://dl.doubtnut.com/l/_EcGcYorpr64q
https://dl.doubtnut.com/l/_f6glFkqfeCOr


B. 17 cm

C. 25 cm

D. 28 cm

Answer: c

Watch Video Solution

36. A ladder is placd in such a way that its foot

is a distance of 15 m from a wall and its top

reaches a window 20m abvoe the ground. Find

the leng of the ladder .

https://dl.doubtnut.com/l/_f6glFkqfeCOr
https://dl.doubtnut.com/l/_GfH5THpf9JED


A. 35 m

B. 25 m

C. 18 m

D. 17.5 m

Answer: b

Watch Video Solution

37. Two poles
 of height 6m and 11m stand

vertically upright on a plane ground. If the

https://dl.doubtnut.com/l/_GfH5THpf9JED
https://dl.doubtnut.com/l/_taZOAWBLokz5


distance between their foot is 12m, the

distance between their tops is

A. 13 m

B. 14 m

C. 15 m

D. 12.8 m

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_taZOAWBLokz5


38.    is an isosceles triangle with 

 and AC = 5 cm. Then, AB = ?

A. 2.5 cm

B. 5 cm

C. 10 cm

D. 

Answer: d

Watch Video Solution

△ ABC

∠C = 90∘

5√2cm

https://dl.doubtnut.com/l/_z8y9v0lmlCUk


Test Paper

1. In the given figure, AB||CD , 

and . Then, find .


Watch Video Solution

∠ABO = 60∘

∠CDO = 40∘ ∠BOD

https://dl.doubtnut.com/l/_5drAXJafdxwF
https://dl.doubtnut.com/l/_zbPG0RztgBqP


2. In the given figure, CE||BA. If 

and ,find ACB.

Watch Video Solution

∠BAC = 70∘

∠ECD = 50∘ ∠

3. In the given figure, two straight lines AB and

CD intersect at a point such that

. Find: (i) 
∠AOC = 50∘ ∠BOD

https://dl.doubtnut.com/l/_zbPG0RztgBqP
https://dl.doubtnut.com/l/_M8YolguKxuXa


(ii) 


Watch Video Solution

∠BOC

4. In the given figure, AOB is a straight line and

OC is a ray such that 

and . Find the value of x

and hence find (i)  


∠AOC = (3x + 20) ∘

∠BOC = (2x − 10) ∘

∠AOC

https://dl.doubtnut.com/l/_M8YolguKxuXa
https://dl.doubtnut.com/l/_H8ZIDjn1gxn6


(ii)  


Watch Video Solution

∠BOC

5.   In a , if , ,

find .

Watch Video Solution

△ ABC ∠A = 65∘ ∠B = 45∘

∠C

https://dl.doubtnut.com/l/_H8ZIDjn1gxn6
https://dl.doubtnut.com/l/_NckrOSRTJzEM


6. In the given figure, x:y = 2:3 and

. Find the values of x y and z.

Watch Video Solution

∠ACD = 120∘

7. Two legs of a right triangle are 8 cm and 15

cm long. Find the length of the hypotenuse of

the triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_0vxdAPgSuuen
https://dl.doubtnut.com/l/_xfHnJvejZCck


8. In the adjoining figure, ABC is a triangle in

which AD is the bisector of . If AD  BC,

show that  is isosceles.


Watch Video Solution

∠A ⊥

△ ABC

https://dl.doubtnut.com/l/_4ZR2JQYytIwW


Test Paper M C Q

1. The supplement of  is

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

35∘

55∘

65∘

145∘

165∘

https://dl.doubtnut.com/l/_P1RvJe3vZE3f


2. In the given figure, AOB is a straight line,

 and . The value of

x is 

A. 34

B. 44

C. 144

∠AOC = 56∘ ∠BOC = x ∘

https://dl.doubtnut.com/l/_Kay2rbOmj7Xi


D. 124

Answer: d

Watch Video Solution

3. In  ABC, side BC has been produced to D

such that

ABC =?

A. 

△

∠ACD = 125∘ and ∠BAC = 60∘ . T hen, ∠

55∘

https://dl.doubtnut.com/l/_Kay2rbOmj7Xi
https://dl.doubtnut.com/l/_A2aTe0Fw6Tni


B. 

C. 

D. 

Answer: c

Watch Video Solution

60∘

65∘

70∘

4. In a , if  and ,

then 

A. 

△ ABC ∠B = 40∘ ∠C = 35∘

∠A = ?

50∘

https://dl.doubtnut.com/l/_A2aTe0Fw6Tni
https://dl.doubtnut.com/l/_A6VQWOGfhZDs


B. 

C. 

D. 

Answer: c

Watch Video Solution

55∘

105∘

150∘

5. In a ,if , then 

A. 

△ ABC 2∠A = 3∠B = 6∠C

∠B = ?

30∘

https://dl.doubtnut.com/l/_A6VQWOGfhZDs
https://dl.doubtnut.com/l/_ALGhHMU7b2bG


B. 

C. 

D. 

Answer: c

Watch Video Solution

45∘

60∘

90∘

6. In a , if  and 

, then 

A. 

△ ABC A − B = 33∘

B − C = 18∘ ∠B = ?

35∘

https://dl.doubtnut.com/l/_ALGhHMU7b2bG
https://dl.doubtnut.com/l/_5IBsZ3EzZPhA


B. 

C. 

D. 

Answer: b

Watch Video Solution

55∘

45∘

57∘

7.  is an isosceles right triangle in

which  and BC = 6 cm. Then AB = ?

A. 

△ ABC

∠A = 90∘

2√2cm

https://dl.doubtnut.com/l/_5IBsZ3EzZPhA
https://dl.doubtnut.com/l/_hiJC0rMZzYas


Test Paper Fill In The Blanks

B. 

C. 

D. 

Answer: b

Watch Video Solution

3√2cm

4√2cm

2√3cm

1. The sum of the angles of a triangle is .......

Watch Video Solution

https://dl.doubtnut.com/l/_hiJC0rMZzYas
https://dl.doubtnut.com/l/_ejXd23EWs96b


2. The sum of any two sides of a triangle is

always ...... than the third side.

Watch Video Solution

3.   In a , if , then  =

(.....) + (.....).

Watch Video Solution

△ ABC ∠A = 90∘ BC 2

https://dl.doubtnut.com/l/_ejXd23EWs96b
https://dl.doubtnut.com/l/_xMCpV95aT7KM
https://dl.doubtnut.com/l/_riU9CpmqTuyv


Test Paper True False

4. In a , AB = AC and , then

BD = .......

Watch Video Solution

△ ABC AD ⊥ BC

5. In the given figure, side BC of  is

produced to D and CE||BA. If 

,then  = ……

Watch Video Solution

△ ABC

∠BAC = 50∘

∠ACE

https://dl.doubtnut.com/l/_M35JUAU2hn3p
https://dl.doubtnut.com/l/_5yfvBRf9jsEd


1. If two parallel lines are cut by a transversal,

then the alternate interior angles are equal

A. TRUE

B. FALSE

C. Cannot be determined

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nXxnsp484Lb0


2. If two lines intersect each other, then the

vertically opposite angles are equal.

Watch Video Solution

3. Each acute angle of an isosceles right

triangle measures .

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_Mo0nuq1K7ldq
https://dl.doubtnut.com/l/_a7Mekb0BlrtX


4. A right triangle cannot have an obtuse

angle.

Watch Video Solution

https://dl.doubtnut.com/l/_QBj3TYLfKEKJ

